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Math 9 - Analytic Geometry

Homework #4 - Intersecting Lines
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Graph both lines using the y-intercept and slope. State the Point of Intersection.

1)  y = 4x - 6
y = -x + 9
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Graph both lines by finding the x-intercept and y-intercept. Do the work below the graph.

5)  x + 2y = 8
7x - 2y = 8
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6)  5x + 3y = 27
2x - y = 2
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7)  x - 2y = -8
x + y = -5
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8)  6x + 7y = -21
x = 7
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Graph each line by converting to y=mx+b or Standard Form. State the PoI.

9)  -4y + x = 8
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10)  y - x = -2
2x - 9y = -45

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10



©U c2h0N1[9d bKpuDtbaf \SooSfFt]wkabr^eK oLiLJCe.G f aAYlYls [rciEgphBtSsS crbedsBeWrfvfeSdc.c s sMva\d\es dwbiatWhh eIdnifpiNnJietqeR lA]lYghewbdrSay O1w.

Worksheet by Kuta Software LLC

Math 9 - Analytic Geometry

Homework #4 - Intersecting Lines

Name___________________________________

Due Date________________  5A____
©F \2R0n1P9V NK\uptUa_ NSwoHfptowkanreeF _LzLXCh.J x CAGlXlf QrhiegWhpt\sC HrAeYsKeKrivVe^dH.

-1-

Graph both lines using the y-intercept and slope. State the Point of Intersection.

1)  y = 4x - 6
y = -x + 9

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

(3, 6)

2)  y = 
3

5
x - 5

y = 2x + 2

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

(-5, -8)

3)  y = 
4

3
x - 6

y = 
1

6
x + 1

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

(6, 2)

4)  y = -7

y = -
3

2
x + 2

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

(6, -7)



©K ]2j0C1X9O uK\uYtnaZ oSyoefjtewEaurde\ VLZLiCd.] g FAHlDlK ar`iLg`hUtQsr `rveBsIerrYvxeedv.X q KMDaxdOef Awli\tohO ]IlnTfhiHnLictGeu RAwlBgderbQrBam i1c.

Worksheet by Kuta Software LLC

-2-

Graph both lines by finding the x-intercept and y-intercept. Do the work below the graph.

5)  x + 2y = 8
7x - 2y = 8
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6)  5x + 3y = 27
2x - y = 2
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7)  x - 2y = -8
x + y = -5
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8)  6x + 7y = -21
x = 7
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Graph each line by converting to y=mx+b or Standard Form. State the PoI.

9)  -4y + x = 8
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10)  y - x = -2
2x - 9y = -45

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

(9, 7)


